DRIVE TRAIN VANE PUMP VT6CR

VI6GCR * - 022 - 1 R 00

Series

Y - Metric port connection, Omit for UNC

Cam ring for

Volumetric displacement cm3/rev (in3/rev)

*003/B03/Y03 = 10.8 (0.66) 015/B15/Y15 = 50.5 (3.08)
005/B05/Y05 = 17.2 (1.05)  017/B17/Y17 = 58.3 (3.56)
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61)  022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42)
014/B14/Y14 = 46.0 (2.81) 031/B31/Y31 = 100.0 (6.10)
*10'- Uni-directional 'B'- Bi-directional 'Y'- Bi- directional

for cold start

Type of Shaft
1 - Keyed (SAE BB)
2 - Keyed (no SAE)
3 - Splined (SAE B)

4 - Splined (SAE BB)
5 - Keyed (no SAE)

Direction of rotation (view on shaft end)

R - Clockwise
L - Counter - clockwise

Porting combination

00 01 02 03

P P-S P P
—8— —o— —o— —o—
(o> () (s -60)
—g—] — — —

S

INTERNAL LEAKAGE (TYPICAL)

(6.5) 24
—— 24.cSt
— — 10cst
— (55)21 >
€ -
o 7
S (5.0)18
~ -
e Ve
2 4015
£ -
2]
O @o12 ~
S
e
ERCOR = —=
© —
[0}
= // | —
T (15) 6
c L
c
e
2 ~ _—
€ (10) 4 >
P _—
0
0 35 70 105 140 160 175 190 210 240 275

(500)  (1000)  (1500)  (2000) (2500) (3000)

(2175) (2700)

(3500)  (4000)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2800rpm
— — — n=1500rpm (24 cSt)
4 n = 1000 rpm
:
»n 3 —
o -
7] - "
7] -
o -
8 2 e
= I
2 R E—— | —
s - L —
== L
1
L —
0
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500) (4000)
(2175) (2700)

Pressure in bar (psi)

|
1

¢ VELJA

|
1
|
1
|
1

[

Modifications

Seal class

1 - 81 (for minreal oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting adapter

Load Fin N (Lbs)

Coupling

1-SAEA 4-SAEC
2-SAEB  5.SAE J498b
3-SAEBB  16/32-11 teeth
Adapter

0 - None B-SAEB
A-SAEA C-SAEC

~
SAE C

NOISE LEVEL (TYPICAL)
VT6CR - 022
Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1000 RPM
— — n = 1500 RPM
Lw =Lp + 8db (A)

75

70 —

65 =

60

Lp. Noise level {db(A)} 1M ISO 4412

55
10 50 100 140 175 210 240

(145) (725) (1500) (2000) (2500) (3000) (3500

Pressure in bar (psi)

PERMISSIBLE RADIAL LOAD

318)

1400 —

1200 —

(@72)

)

Shaft keyed N° 1

(227) 1000
(182) 800
(136) 600
/
(90) 400 e
45 200
600 1000 1200 1500 1800 2000 2500 2800

Speed (rpm)
Maximum axial load permissible Fa = 800 N (180 Lbs)



*$[VELJAN

2.29
1/2-13 UNCx0.88 DEEP-4 HOLES (58.2)
(M12x22.4 DEEP) 0.40
1141 (10:2)
@D2xP DEEP L4 35.6) 0.31
1.63 1.82 : i) KEY 0.1875/0.1855
(41.4) (46.2) : (4.762/4.712)
0.31 1.25
0.31 (7.9) (31.8)
(7.9) Y
_/|_0.06x45°
0.96 0.72 (1.5x45°)
T T(24.9) [16.3)
- o o=
| & B O g 5 g —
<&
__|_o.0exas° 0.06x45° 5/ 3 —~
(1.5x45°) (1.5x45°) S8 1@
Qe SlF
© >
Shaft code 3 Shaft code 4 a8 °F
SAE B splined SAE BB splined S
Class 1-J498b Class 1-J498b L2
S e 3/6-16 UNCx0.75 DEEP L R
pressure ang pressure ang (M10x19.0 DEEP) 4 HOLES (1.3x459) (1] mem S35
flat root side fit flat root side fit
L5 2.81
= (71.4)
.87 £
(1672_5) ol 3.25 1.50
g8 (82.6) @81| (a1
5.75 = (9.4)
KEY 0.3126/0.3106 (146.0) o)
(7.94/7.89) 5 .31 KEY 0.250/0.248
2.875 g 0.25 MAX 9 (6:35/6.30)
M8x0.63 DEEP (73.0) % (6.35) 150 R
(16.0) = (38.1) M8x0.63 DEEP
—E] : | (16.0)
] eyl
[ © =
s 32
> als 45
o]t )
o~ - o 4+ )1+ |l]—-—=-—= e 9s
g 2 o 8 g3
== N ®|=~__ <5
22 83 g5 38
. S|
0.06x45° -5 g S '2_ I~
(1.5x45°) 9= Y, 2lE ola
| 7.77 ald =Y
3.54 MOUNTING TORQUE 53 ft.Ibs (197.4)
Shaft code 5 (90.0) (72Nm)  ADAPTOR SAE ' C' 2HOLES M10x0.945 ONLY
(keyed non SAE) MOUNTING TORQUE 53 ft.Ibs (24.0)
(72 Nm) Shaft code 1
MOUNTING TORQUE 117 ft.lbs (keyed SAE BB)
(159 Nm)
Adaptor D1 D2 P L1 L2 L3 L4 L5
SAE "A" 3.25(82.60) | M10 | 0.94 (24) | 4.19 (106.4) | 043 (11) | 0.31(7.9) | 1.26(32) | 8.23 (209)
SAE "B" 4.00 (101.65) | M12 | 1.10 (28) | 5.75(146.0) | 0.63 (16) | 0.31(7.9) | 1.81(46) | 8.78 (223)
SAE "C" 5.00 (127.10) | M16 - 7.12(181.0) | 0.63(16) | 0.31(7.9) | 2.20(56) | 9.17 (233)
Adaptor SAE "A" SAE "B" SAE "C"
Coupling drive SAE A SAE (11teeth) SAE B SAE B SAE BB SAE C | Shaft torque limits in3/rev x psi (ml/rev x bar)
Number of teeth 9 11 13 13 15 14 Shaft| VxP max. |Couplingdrive | Vx P max.
Pitch 16/32 16/32 16/32 16/32 16/32 12/24 1 [ 18972 (21420) SAE'A" 9743 (11000)
P —— P P 20° pos pos 20 2 | 12666 (14300) SAE'B" 18246 (20600)
essure angle 3 | 18246 (20600) | SAE'BB' _|19530 (22050)
Major dia.(min)  |0.625 (15.875)| 0.750 (19.05) | 0.875 (22.225)| 0.875 (22.225) | 1.00 (25.40) | 1.250 (31.75) 4 | 28937 (32670) SAE'C' | 19530 (22050)
Minor dia.(min) | 0.500 (12.70) | 0.630 (16.00) | 0.753 (19.125)| 0.753 (19.125) | 0.877 (22.275)| 1.086 (27.585) 5 | 30274 (34180) | SAE"{1teeth" |14039 (15850)

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp| p = 0 bar (0 psi) |p = 140 bar (2000 psi) |p = 240 bar (3500 psi) [p = 7 bar (100 psi) |p = 140 bar (2000 psi) |p = 240 bar (3500 psi)
port in¥frev | cm¥rev | gpm | Ipm | gpm | Ipm gpm__| Ipm hp kw hp kw hp kw

003 0.66 10.8 429 | 162 296 11.2 2.04 7.7 174 | 1.3 7.11 5.3 11.26 8.4
005 1.05 17.2 6.83 | 25.8| 5.50 20.8 457 | 17.3 1.88 | 1.4 10.06 75 16.36 | 12.2
006 1.30 21.3 844 | 319 7.11 26.9 619 | 234 201 | 15 11.94 8.9 19.71 | 14.7
008 1.61 26.4 10.48 | 39.6| 9.15 34.6 8.22 | 31.1 215 | 16 14.35 | 10.7 2293 | 17.7
010 2.08 34.1 1352 | 51.1] 12.19 46.1 11.26 | 426 228 | 1.7 18.64 | 13.4 2990 | 22.3
012 2.26 37.1 1471 | 55.6 | 13.36 50.6 1246 | 471 228 | 1.7 19.31 | 14.4 3232 | 241

VT6CR | 014 2.81 460 |18.25 | 69.0 | 16.93 64.0 16.00 | 60.5 255 | 1.9 2360 | 17.6 39.56 | 29.5
015 3.08 50.5 20.00 | 75.6 | 18.73 73.2 19.02 | 675 268 | 20 2561 | 19.1 42.91 | 32.0
017 3.56 58.3 23.12 | 87.4| 21.79 82.4 20.87 | 78.9 282 | 241 2037 | 21.9 49.48 | 36.9
020 3.89 63.8 25.32 | 95.7 | 23.99 90.7 23.07 | 87.2 295 | 22 31.92 | 23.8 53.91 | 40.2
022 4.29 70.3 27.88 |105.4 | 26.56 | 100.4 25.63 | 96.9 3.08 | 23 35.00 | 26.1 50.14 | 44.1
025" | 484 79.3 31.46 |118.9| 30.13 | 113.9 2921 |110.4 335 | 25 39.16 | 29.2 66.38 | 49.5
028" | 542 88.8 |35.24 |133.2]33.92 | 1282 33.28” |1258” | 375 | 2.8 4385 | 32.7 65.04%| 48.5?
031" | 6.10 100.0 39.68 |150.0 | 38.35 | 145.0 37727 |1426” | 375 | 28 4895 | 36.5 72.95%| 54.4?

1) 025-028-031 = 2500 RPM. max.

2) 028-031= 210 bar (3000 psi) max. int.




